NOTICE OF PUBLIC HEARING ON SPECIAL ASSESSMENTS FOR PUBLIC IMPROVEMENTS IN LA CROSSE, WISCONSIN

PLEASE TAKE NOTICE that the governing body of the City of La Crosse intends to exercise its police power in accordance with Sec. 38-1 of the Code of Ordinances of the City of La Crosse, to levy special assessments upon property adjacent to the following described Alleys for benefits conferred upon the property by the installation of Concrete Pavement.

- From Wall to St James Streets between Liberty and Charles Streets
- From 16th to 17th Streets between King and Main Streets
- From 14th to 15th Streets between Johnson and Adams Streets
- From Glendale Ave to Lincoln St between 26th Street and Sunset Drive
- From Rublee to Gohres St between Caledonia and Avon Streets
- From Rublee to Gillette St between Caledonia and Avon Streets

A report prepared by the Board of Public Works showing plans and specifications, estimated cost of improvements and proposed assessments is on file in the Engineering Department at City Hall, 400 La Crosse St., Fourth Floor, La Crosse, Wisconsin 54601 and may be inspected during any business day between the hours of 8:30 a.m. and 5:00 p.m.

You are further notified that the Finance & Personnel Committee of the Common Council of the City of La Crosse will hear all interested persons, their agents or attorneys concerning matters contained in the resolution authorizing the assessments in the above described report at 7:30pm on March 5th, 2015 in the Common Council Chambers on the first floor of City Hall, 400 La Crosse St., La Crosse, Wisconsin. All objections shall be considered at this hearing and thereafter the amount of the assessments will be determined.

Teri Lehrke, City Clerk

Published in the La Crosse Tribune 2/19/15 1 Affidavit Mailed to Property Owners 2/17/15

SPECIAL ASSESSMENT PROCEDURE FOR PROPERTY OWNERS

As a property owner proposed to be assessed for improvements that benefit your property, following is a summary of the procedure you are invited to be a part of:

- 1. Plans and specifications for the proposed improvement and a schedule indicating an estimate of the cost to be assessed against your property are now open to inspection in the Engineering Department, Fourth Floor of City Hall. Office hours are 8:30 a.m. to 5:00 p.m., Phone (608) 789-7505.
- 2. Public Hearing to be held before the Finance and Personnel Committee of the Common Council at 7:30 on March 5th, 2015 in the Council Chambers. You are invited to speak for or against the project or your proposed assessment at this meeting.
- 3. You may also object or express approval of the improvement or your assessment by submitting a letter to the City Engineer, 400 La Crosse Street, La Crosse, Wisconsin, 54601 stating your reasons for objecting. This written objection must be received by the City Engineer no later than 5:00 p.m. on the day of the Finance and Personnel meeting.
- 4. Property owners may also wish to express their approval or objection to the assessment by contacting their Council Member.
- 5. The assessment resolution is either approved or denied by the Common Council at the regular Council Meeting at 7:30 p.m. on Thursday, March 12th, 2015. The public can not speak at this meeting.
- 6. If the Common Council adopts the Resolution For Levying Special Assessments, property owners will be sent a copy of the resolution by the City Clerk.
- 7. Assessments may be paid in cash or shall be payable over a period of ten years or fifteen years to the City Treasurer. Installments shall be placed on the next tax roll after the due date for collection and shall bear interest at the rate established by the council per annum on the unpaid balance from January 1st of the year following the levy.

The interest rate for this project is expected to be 3%.

8. The assessments indicated for this project are based on ESTIMATES of the proposed work costs. After construction has been completed, the FINAL assessments will be determined and may be LOWER than the assessments indicated. DO NOT MAKE ANY PAYMENT TO THE CITY AT THIS TIME.

If the final project costs are higher than Estimated, the city will pay the extra.

9. City participation in project costs:

Concrete Alley Paving -

The City pays all the cost of any storm sewer work required and all the cost of each alley end approach. The City also pays for 20% of the remaining costs.

FOOTCOST	FRONTAGE	ASSESSABLE B	FOOTCOST FRONTAGE ASSESSABLE BENEFITS TaxParceIN	TAXIDNO	BILLNAME1 BILLNAME	BILLNAME2	BILLNAMES	BILLNAME4	BILLNAMES
\$44.00	45.24	45.24	\$1,990.56 17-20129-140	17-20129-140			CHARLES P WEETH	122 17TH ST S	LA CROSSE WI 54601
\$4.00	185 70		\$5.310.80 17-20130-20	17-20130-20			KRISTINA M SCHULTZ	116 17TH ST S	LA CROSSE WI 54601
41.00	500		62 200 00 17-50251-10	17-50051-10			MARY KATHERINE ROBINSON	1610 MAIN ST	LA CROSSE WI 54601-4227
\$44.00	20.00							200 (700) (700)	I A COOSSE WILLIAM O
\$44.00	50.00		\$2,200.00 17-50251-20	17-50251-20			KR ABRAHAM PROPERTIES LLC	910 SIEVENS PL	LA CRUSSE WI 54603-8523
\$44.00	50.00		\$2,200.00 17-20129-130	17-20129-130		BETSY A BRECKENRIDGE	VIVEK V PANDE	124 17TH ST S	LA CROSSE WI 54601-4208
\$44.00	24.45		\$1,075.80 17-50251-30	17-50251-30		BRIAN D,BARBARA A BENSON		326 WEST AVE N	LA CROSSE WI 54601-3575
\$44.90	40.85		\$1,797.40 17-20128-40	17-20128-40		CHARLES L JR,LYNN R SMADER		N1926 SUMMIT DR	LA CROSSE WI 54601
\$44.00	90.85		\$2,998.16 17-20128-10	17-20128-10		CLIFFORD, MARJOLAINE	JACOBSON TRUST	112 17TH ST S	LA CROSSE WI 54601-4208
\$44.00	61.73		\$2,716.12 17-20129-30	17-20129-30		GARLAND S,NANCY K AMUNSON		131 16TH ST S	LA CROSSE WI 54601-4241
\$44.00	85.24		\$3,750.56 17-20130-10	17-20130-10		JENNIFER I ANDERSON-MEGER	STEVEN A MEGER	120 17TH ST S	LA CROSSE WI 54601-4208
\$44.00	40.85		\$1,797.40 17-20128-30	17-20128-30		PT INVESTMENT GROUP LLC	ATTN: MICHAEL PETERSON	324 10TH ST S	LA CROSSE WI S4601-4733
\$44.00	50.00	50.00	\$2,200.00 17-20129-20	17-20129-20		RICHARD H, PAMELA J STRAUSS		125 16TH ST S	LA CROSSE WI 54601
\$44.00	236.17		\$4,780.60 17-20129-10	17-20129-10		THEODORE JJESSICA SKEMP		121 16TH ST S	LA CROSSE WI 54601
\$44.00	63.20	_		17-20128-50		TIMOTHY R,AMANDA C ACKLIN		1614 MAIN ST	LA CROSSE WI 54601

1074.28

859.05 \$37,798.20